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H/w Q. BCG vaccine is given to protect from which of the following?

LS. o1 ek ferefefied 5 € fopereh sremer = Wﬁmw%‘?%@\@

S.S.C. AT H1dsh ER’F (T-1) 11 S, 2079 (11-9Teft)

—

(a) Jaundice / TiictaT S

(b) Anaemia | THITHT /
yd (C)lTuberculosis/?a'J*ﬁﬂj
(d) Polio / R J
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TG O3 BHel JT STfad iy el Th
LT B mﬁﬂmzﬁaﬁ(TB) TohTd AT
e, 31k 41 Wﬁﬁoﬂ?ﬂ%l 2reft =1 Sftemy
ATShIdF I TH d¢|®|{°h('1IIHH e &, ST 8ol &
HT%W@W%ISHW CEIE om%maﬁlfﬁﬁ
Wﬁwwlql wucu%I

o Tubercu1031s is serious dlsease usually
affecting the lungs. Tuberculosis or TB 1s
spread through the cough, sneeze or breath of
infected people. The bactertum of TB is called

Mycobacterium tuberculosis, which spreads
through the air. To prevent this disease, B.C.G.
1S vaccinated.



sandeep yadav 22 hours ago
Very nice class sir thanks & 4

/[6 1 CI' Reply

un 2 hours ago

W ans is opt (C) Tuberculosis
thank you sir
nice session

5 CH  Reply

@ sandeep yadav 22 hours ago

Top important economic ke questions bhi kra dijiye sir |

51 CH  Reply

w 1reply

DANT yaduwanshi & hours ago

Homework ans option tuberculosis A A 4

f51 CH  Reply

i

v (™). 1reply

/

N
/

o
B

L
L f ¥

Rituparna Biswas 22 hours ago

option C:
Tuberculosis

51 G Repy
v f‘*s; + 1reply

Krishnakant 22 hours ago
Hw-C

Reply

-

v ?‘& + 1reply

s

Ravi Patel 21 hours ago

52 G Reply

v (=)« 1reply

.

+ArPiTa SiNgH* b 8 22 hours ago

BES

51 G Repy

v |« 1reply

e

/

Radha Yadavp' 19 hours ago
HWC

51 CB Repy

£y

v (%)« Treply

*,

Surbhi Sinha 18 hours ago

Homework question answer s

51 CB Reply

v (%)« Treply

s

GOLDISINGH 20 hours ago
tuberculosis

51 G Repy

v ()« 1reply

Farooqui..... 7 hours ago
Option C

51 CB Repy

v Treply

option cecee



Bipitf wisfara 17 hours ago
Hw ans. Option. Ccc
/Eﬂ_.l' 1 Reply

i

w 7= . 1 reply

e

/JIL.II{UHD BOIPAI 22 hours ago
CTB

fh 1 . Reply

i

w 7= . 1reply

-/Hanjan Gupta 21 hours ago
Th is the ans
517 GF Reply

i

w 7= . 1 reply

/Eagar kumar 21 hours ago
Ans C

ry 1 L Reply

i

w 7= . 1 reply

.

_ﬁf ajay makwana 192 hours ago
n
/ gy 1 GO Reply

Pl

w (7= . 1 reply

.

m Zikra Yasmeen 21 hours ago
e OptionC
51 GH  Reply

- '3:{“.‘"&;3' « 1 reply

sandeep yadav 2Z hours ago
: Option C

g 1 CJH Reply

E

w (7= . 1 reply

.

/ anu sharma 19 hours ago
Option c

g 1 CJH Reply

_.-"'_""H.

w (7= . 1 reply

.

hw answer - C




SSC CHSL 2022-23




SSC CHSL 2022-23

Q.1 Kalinga War was fought in the year
I 1 g a9 T g7 ol
- S.S.C. 3AFelE CHSL (T-I) 20 e, 2017 (I-Treft)

J/

(a) 1604 BC/1604 57,
(b)|261 BC/261 39,

/ (¢)731 AD/731 34. //
(d) 1113 AD/111339.
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\/F he first major event of Ashoka's reign was the

Kalinga war and Ashoka's victory in it. There 1s clear
evidence 1n the context of this war from Ashoka's
thirteenth edict. This incident happened after 8 years
of Ashoka's reign 1.e. 261 BC. Happened in In this
inscription, he has expressed his sorrow and remorse
over the suffering caused by the Kalinga war.
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Q.2 What was the capital of the Maurya Empire?
D ETTS 6T TS hI-E ot 2 —
S.S.C. AT s GD 15 B, 2019 (11-91efh)

e

(a) SETEA/ Indraprastw
(b) AT/ Vaishali — /

©) g_rglhl-*llli /Kushinagar
/ (d)\tl'l?,'%lflff/Pataliputra
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. 3—|‘4-| & ATV ohl FedT 4 3ifdy =3 Qumﬁi‘q’

/ IR Ty t{S{‘IH 9 Y M g W?ﬁl
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qd;m < (A HHSd)

ST off T AT Tefed ﬁTrP%u:ﬁTvr ﬁ
fereqa fereon ﬁq%l
y\a/bhshed the aurya

® Chandragupta Maurya

Empire by defeating the last Nanda ruler
Dhanananda with the help of his Guru Chanakya.
Pataliputra (modern Patna) was the capital of
Chandragupta (Maurya Empire), about which
Greek ambassador Megasthenes has given detailed
descriptions.
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Q.3 Which Delhi Sultan planned for a Mangol region for the first time in the Sultanate?
Z N o N (a * N\ N NN O o N DN O
\/(‘iQ’(‘I"l(‘I °h Rldait ]}IWGQ’H ST HITeT &A YL chos]T ohld oh [T Taecdl b Tohd sl ﬁ (eh
AR Al AT sHTS off 2 S.S.C. AT MTS (T-I) 9 3T, 2017J(HI—‘4T<7ﬁ)

//

(a) Alauddin Khilji/3TSEq Raetsi]

(b) Ghiyasuddin Tughlug/TITEEM T
(c)lﬁuhammad Tughlugq/9&H RGNS

(d) Bahlul Lodi / T8It AME)
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/
* HEFAS oA qITeTeh | GO TS/ shl ATSHT TS o

@ /W‘Wwﬁ3mmﬁﬁ?ﬁﬁ/ﬁ%ﬁiﬁ
offt AR mear ufver &1 asft & sEard) Tsifae
iUl o o 384 I AT AT Sl

—

® Muhammad bin Tughlug had planned the
conquest of Khorasan. For this, he had also
recruited 3 lakh 70 thousand soldiers. But he
abandoned this plan due to the rapidly changing
political conditions in Central Asia.




SSC CHSL 2022-23

Q.4 Taking the example of which country Muhammad bin Tughlug made token

currency using copper and brass coins?

v

HEFAS ToiF TeTeh  Toh® ST 3hT SSTEXT ekt disl ST UTet o ferehi sht ST 3L 2o

ST SETS off 2 s.s.c.E:.P.o. S.I.SGICEL\z()M/kI- ety
(a) ST/ Japan
©)) iﬂﬁ/}}reece

/ (c) 4/ China
(d) &4/ Russia
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ﬁgsmc; o qUTcTeh o <19 o ST [helclTs @l

Tichfch HET o ThAAMIEh JART & T el
@ Qe W1 Hiohidieh HT o1 Tl Y& [oh3AT <1,
gTciToh I8 AT STH%eT LaT ol

® Muhammad bin Tughlug, inspired by the

CCS‘U\’)O(AB successful use of token currency by the ruler
of China, Kublai Khan, started the practice of

/ token currency in India as well, although this

combination was unsuccessful.
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Q.5 English education was introduced in India by :
e & st Rve fe smor 1 a0
e S.S.C. ST HTdeh T (T-1) 31 T, 2016 (11- HTeT)
I

7

(a) Curzon /s
/ ©)) ( M_e_lgaulay / ﬁi‘lé/

(c)' Dalhousie/ €d1 4El

(d) Bentinck/si{ceh /
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Wﬁamﬁ%%rmwﬁﬁﬁaﬁ%sé & frerer

% TS ( Minute) ﬁwﬁjxns EINPERCIEE

ﬁﬁ 7 HTe, 1835 % J&ATS [0 Hehlel hl GIEehITT
o €Y T IS 138

SHAYAT TedUT THT| HILd ﬁ?’:l'lﬁ'{ohl

RE]

ERICPEEIRC X PR RE DIRICI

1 ST HehTcl o ST U foRal TRIT o, Ao 3!

® The foundation of the modern education system in
India was laid in 1835 AD by Macaulay's Minute.

In the time of Lord William Bentinck, Macaulay's

approach was adopted by a resolution of March 7,

1835. English education was officially started in

India on the proposal of Macaulay, but it was

implemented during the time of Bentinck.
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Q.6 The system of Budget was introduced in India during the Viceroyalty of -
AT H SISTE SAIEAT A ST Tohel ARG o it H G ?
S.S.C. AR H1deh Tl (T-I) 7 Tadsr), 2016 (111- 9Te)

/
/ ﬂﬁnning@

(b) Dalhousie/ SIS
(c) Ripon/Ru= /
(d) Elgin /i _/
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C ‘HT{‘crﬁ ST AT ol Wﬂﬁ%ﬁﬁm6 62 5. B
2||Hv|oh|cfiﬁ%’34T91T|34T*24°hH‘u|{ I Bt A ferfesm
el foee wRa Fomn o e ?ﬂﬁﬁ 1860
Wwwmﬁm%waa%w@%ﬁ(lm 3.
ggid (BSU HIfd) doT «ie R (1880 34 '3)
LT TR STTEA ﬁwﬁmw Y

—_—

® The budget system was started in India during the reign
of Lord Canning (1856-62 AD). Under economic
(,,m 7 reforms, Canning called British economist Wilson to
— India and who presented India's first budget on April 7,
1860. While Dalhousie (1848-56 AD) lapsed theory
(Harap Policy) and Lord Ripon (1880-84 AD) was

related to local self-government.
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Indian Polity
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Q.7 Which Act was replaced by the Indian Constitution in 1950 as the fundamental
/document governing the country?

1950 | AT G SR 27 ol I S 9Tt Qifcieh 2&dTas o ®9 | g
At st gfaweniud feram T o 2

S.S.C. AATEH FHieA GD 22 B - 9Teth)
(a) TAEHET 3THH, 1773/Regulating Act, 1773
e
(b) T TR ST, }9§5YGovemment of India Act, 1935
1 . /
(c) HIA-THer AfeIam /Morley{l\}into Act
(d) IR I¥g A=, 1861/Indian Council Act, 1861
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o
® 1950 H VA Gl gRT 237 ahl MY i T

/ HicTeh SEdToST o ®9 H HRd TehR 3T HIH, 1935
T TieEeia foha TTT oMl 36k STTTE U 8 oy
SITE HHTH ek ohg H 387 e R fehat 7T <)

®* The Government of India Act, 1935 was
replaced by the Indian Constitution mn 1950 as
the fundamental document governing the
country. Apart from this, diarchy in the state was
abolished and diarchy was implemented 1n the
center.



T ¥ fore Terfar-yra SAferfam it ueh farrear off?
e S.8.C. C.P.0. S.I. 75, 2016 ( I-97eft)

=) (DG | 1527
) Za == SerRqyA~

/ (a) YT YES AT, 1892/Indian Councils Act, 1892
_y/(b) TR Tfsg AT, 1909/ Indian Councils Act, 1909

_AC) m FfeEE, 19 ﬂ Government of India Act, 1919
'
) T TR AR, 1935/ Government of India Act, 1935
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g?f?\ I
=

* YId TR Afufm, 1919%%%%@
/ Wﬁﬂé%squqWﬁaﬂ%ﬂwwﬁ
IR ] 5| WY, LA LRI, 191871, TehedT,
ITif ST, ﬁwamﬁm*dqwdw

ch mwaaﬁwwﬁwﬁmﬁmwﬂﬁﬂaﬁi

ST < 919 & — ="

* Diarchy was introduced by the Government of India
Act, 1919. Under this, dual governance system was
started 1n the provinces. Subjects like health, local
self-government, education, medicine, peacekeeping,
agriculture, etc. were assigned to selected members of
the legislature, while the major executive powers still
remained with the Governor-General.
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Q.9 Which Article of the Indian Constitution gives the arrested person the right to be
/p'resented before a magistrate within 24 hours?
WA HiereT o fohd 3TTose H TREART o 24 Eel o AU H HISTESE o A U 8-
T IR B2 S.S.C. 3 MTS (T-I) 6 3R, 2017) (19T

Z

(a) Article 24 / 33|:|0t®3 p
(b) Article 21/ 33|:|0t®3 21

/ © WZ / 355\;%5 22)
(d) Article 14 / 381 14
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* YA HldH s 3HAT=a 22ﬁﬁr{wﬁ%24€|ﬁ
@L %&d(lﬂﬁHlM%d*WW@ﬁWlﬂﬁW

aftfa 21 o1 &1 39 3TT=8 o I fhel Tk o
9 HTY ﬁaﬁrﬁmﬁﬁ?%mﬁﬁ%lﬁdsl @ S
AT 2

* Article 22 of the Indian Constitution describes
the right to appear before a magistrate within 24
hours of arrest. Also, under this article, no
person can be kept in detention for more than
three months.



/:onferred by this Part'deals with?

YA HITET T T T Y& ATYBRL ok oI o [T 3T=R fohed
TS erd 27 S.S.C. AHATH(CHSL (T-1) 18 S, 20 ﬂm- qreil)
| o

Aot 1235~ s —7
€) hs GLT /Central govemmeﬁ/
(b) ST HIhI{/State governme
W (o o HifcTeh ATeehT/Fundamental
/ “fahts of Indian citizen  /
(d) T=T il EAEEN| ﬁlc_&ri?f\//Direc,tive principles of

state policy
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» T TITET o1 90T 3, SAF=E 12-35 Tk SRR § Geiira
2| Giora™ fetarett 3 gifcter SARRR 1 I o Siae™ o
e, Wi AT STTRRT T T 1 o 6ok, AT I (R & ST,
5afTT 36 9T 37T W 3 S0 Y& SIRRRT & Jadd o o]
HAYT(eh I T TG STT=8 32 § L (o T S AR

ATRGERT o foTq Uk Hiferes stftren 21
\ —
®* Part 3 of the Indian Constitution, Articles 12-35 deals with

Fundamental Rights. The framers of the constitution made the

provision of fundamental rights in the constitution, but if these
rights could not be enforced, it would have become futile, so
the provision of constitutional remedy for the enforcement of
the rights conferred by this part 1.e. part 3 was made 1n Article
32. Given which 1s a fundamental right for Indian citizens.
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cography



YAd, 3w Rud el

(a) Prime Meridian / IYTH HEY I\@{QI
(b) Tropic of Capricorn /Heh{ \{9/

(c) Tropic of Cancer / ek T

/ (d) Equator / Wﬁ@b/
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/
* I HET LT o IR H 18d g geell o a1 se

'z T B e AT 0° amﬁmwtw bl
21 MHE 1@ o I H feord 3TeisT {@redl i 34
STagiT 3 2t F for aami@a‘ﬁﬁa?avﬁ

JTEITIT T ST 2

®* India is situated to the north of the equator. The
0° latitude dividing the earth into two equal

—

parts 1s called the equator. The latitude lines
located north of the equator are called northern
latitudes and the latitude lines located south of
the equator are called southern latitudes.
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Q.12 With which country India has the longest international boundary?
A T o T T 6T Hor el S e i g © 2
S.S.C. HAHATE H1dsh Tl (T-1) 10 sz, 2016 (I- 9Tl

(a) Nepal/ﬁw

(b) Pakistan / ITfeh&T

(c) China / =4
- (d)\Bangladesh/d e |E@
\ __—
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o (T STR_aiemmr 4096.7) Bft, =9 - wa 3,488 Fmﬂﬁ
TR 3 323 TohHl., RITHR WRA 1643 %lﬁ ﬁw

A 1,751 S W 699 TR, WWW R
ﬁ AT, | wsu oh{d%‘liﬂ?rwﬁ% oh‘mm NREEL
| 31<1u|b¢|efiﬁm TATIT h HT?IETﬁ%‘%%I @II‘Q'IIG-?I CARSILI

aﬁ;crsf L 9T qurﬁ ﬂGﬁTEr, ‘>rlm IYH, AU 9199

® India and Bangladesh 4096.7 km., China—< India 3,488 km.,
Pakistan - India 3,323 km., Myanmar India 1643 km., Nepal -
India 1,751 km., Bhutan India 699 km. And Afghanistan
India 106 km. share a long border. So it 1s clear that India's
longest international border 1s with Bangladesh. Mizoram,
Tripura, Assam, Meghalaya and West Bengal are the states
that touch the border of Bangladesh.
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Q.13 Which of the following 1s the oldest mountain range?
/ﬁwl?dﬂgd U Go® QU] e HEeT hiA-H g 2
S.S.C. AT TAUTH, 14 fads{, 2017 (1 1-91ef)

/

(a) Haqsl/ Satpury
(b) AR /Nilgiris /
(c) feHTe™/Himalayas

/ ©) \%ﬁ?ﬁ/Arava@




/

(€23 .
* WA =l HoE YR _Ted 2Eell 3

CRIRER

AN
1}

FEAT 2| SHhT [T

TSI | AL (a0

SHeh! Td = el

[T

T (ST 1722
Z

5

——

* The oldest mountain range of India is the

Aravalli mountain range. It extends from

Gujarat to Delhi. Its highest peak 1s 'Guru
Shikhar' (height 1722 m).
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Q.14 Lipulekh Pass 1s in which state of India ?
oo &t 9a o fore Tsar | ord 22

S.S.C. 3

CHSL (T-I) 19 T, 2020((II - dTeiT)

(a) Assam / JAHH / /

(b) Jammu and Kashmir / EITI[\Q’ﬁT hIHI
(¢) Himachal Pradesh/feHT= W

/ (d)\Uttarakhand/drl@S/

e
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» foqci@ aﬁ(e;{uqs uwﬁ(ﬁ%ﬁw %Iﬁ\ﬁ
o 2| ST L T STANT 3 ohcdlfu HHHuq{ I é%

mdﬁ“ ST 2 %
° Llpulekh Pass 1s located 1w” Pithoragarh

district of Uttarakhand state. This pass is

SO also used for Kattash Mansarovar Yatra.
) e
S
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Q.15 Which of the following 1s a hill pass located between India and China?
/ﬁmﬁf&aﬁﬁﬁ?—m T 3R =19 & o= feuq ueh ygre atf 29

S.S.C. & M.T.S. (T-I) 26 3T, 2021 (11-9TeAT)

7
_

/!
AL
/ (a) Karakoram Pass / PRI
(b) Zojila Pass /ST ::7
(¢) Pangsau Pass/qTEt /

(d) Khyber Pass / @ g0




<
¢ FRIH U YT R I o o= Rua =

/qslsﬁ G 2| 36 QL ol OHE acT § SralTs oRTe

®* The Karakoram Pass 1s a mountain pass
located between India and China. The
height of this pass 1s about 5540 meters

above sea level.
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Q.16 Which phenomenon 1s responsible for the echo of sound wave?

S S, TS HIdeh &0 (T-1) 30

/%ou':l AT h T[T o fTT SIF-|T SHR0T PG BT 82 ;&l/\/
- 2016 4111- U

/ @] Reflection / T )

(b) Refraction / CPErE]

(c) Interference ICIGETY

/,
} (d) Polarisation / §[eeRtoT
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~N

o ST TN o T[ST G shl BT ok T 1T &l T TN oh
g=iur o foru foreft 9 forelt aream Y trasgehdar gidl 81 i+
qT 3, g9 qAT 19 7 710 | <icd Gehd ! 8] 31Tkl 319 Td

N N\ ([N \ e ¢ (@ \ N\
FI TR ST hl GG Tdd L adl 2, Tk hiFgd AT T Hde
TN T AT 8| S &a (= qUaidd aid) @, df 26 39 &9
SIGEEIE (Echo)?JTTTC\\_Tf H\D-'-Ilé gedt 2l

® The resonance of sound waves 1s due to the phenomenon of

reflection. Some medium is required for the transmission of
sound waves. Sound waves can travel through solid, liquid
and gas mediums. Most solid and hard surfaces reflect
sound, while soft or soft surfaces absorb it. When the sound
1s reflected, we hear the echo or echo of that sound.
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Q.17 The material used in electric heater is

/lcmw o Biet o I-E ATt T et 22 ﬂ]@
2016 (- 9Tair)

S.S.C. AT HIdObF('I'ﬁ'J(T 1) 31 37T,

(a) Tungsten / T

) Tass / tﬂ?l?f S
(d) Steel / 3/
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* fofsTedt = iet | b (FATEshiH) T T qX
/ T Il %@% =TT T 3o aIdT 2)

* Nj me metal wire 1s used 1n electric

heaters because of its high melting point.
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Q.18 Electric motor converts energy into mechanical energy.
o N\ C_N c N
\ﬂq%d qieT FS11 ol ATk Folt § SIeetaT 2 OL@

— S.S.C. AT HTaeh a0 (T-1) 11 3ATEd, 2017 (I1- 9reit)

'Y

—

(a) &=/sound

/ (b) TiAeh/Mechanical
& (¢) THT /chemical
d)(%l@?f/ electrici@

\ —

A
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e fogrd et forma et 1 Ak St | tlﬁ?alﬁ?r
7w A e 3 SEH SATHOR ool § Toeld iy
/Wdohlq gal o sie Wl $Hedl I
SEA-TFSRIT ST I h1d A T &, S I8

ST %JT'T O FH AT 81 36 EO T SRl AT

W%ﬁ@?ﬂﬂﬁwawmél

/ .
® An electric motor 1s a device that converts

electrical energy into mechanical energy. In this,
on passing electric current in the armature coil,
the electromagnetic force pair starts working on
the coil kept between the magnetic poles, due to
which it starts rotating on 1ts axis. This rotational
motion 1s used for mechanical work.
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Q.19 Wind turbines convert energy into mechanical power.

Ve cotocey (ieﬁy) STl ol FiTeh Mk | TGl il &l g‘
/ S.S.C. HAATET H1aesh &R’ (T-1) 13 S, 2019 (14 9red)
(a) kinetic / it /
(b) nuclear / Tolear / ATRIRT

(¢) chemical/ TE™H® /
(d) gravitational/ Tt



® T erehl BT shi 7T oh ATEIH U hid hidl &l 39H
T

AT U sig] UL ST &aT Shid] =, cll sHoh JA T

&'T?L\‘ C
/ ((ﬂﬁl‘\fﬁﬁ &I UL H EUH Icq L 30 8] 30 YRR

EEIT?ﬁTrﬁITvr it e e & See Tt B

—

* Wind mill works through the movement of
wind. When air hits the rotor blades attached to
it, they move due to its force and generate
rotation 1n the rotor. Thus the kinetic energy of
the air starts converting into mechanical energy.
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Q.20 Constantan 1s an alloy of Copper and :
T el 31 EARCATPRIGE CG\L’D/

S.S.C. AR H1dsh T (T-1) 9 |71, 2020 (11- uTet)

(afNickel / ﬁ%

byTfe V4
© Alumlnlum/QW'ﬁﬂﬁaﬂ
(d) Iron / QATET /

——
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&L

o FdeT ai N fha (Nidkel) &I 3=
%l'i-'J?ﬂ?I Elﬁlﬁ‘q JTeAt ﬁf%T%Il?f (Alloy) B 399
AT 55 uﬁmﬁww 45 Slﬁl‘ﬂ?rﬁ%f

I & j

* Constantan 1s an alloy of copper and nickel

with high electrical resistance. It generally
contains 55 percent copper and 45 percent
nickel.



Q.21 The essential component of a mercury mixture is

Teh qTe fireror ot Stfers g 2l
——F 3.S.C.

MTS (T-I) 16 T&dsI, 2017 (J-41eiT)
\

(a) Ush 3HEcd/an ac1d
(b)[W

(c) Ush &1{h/ a base

(d) Ush 3YTd /a non- metal
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* GTq o |1 THHU BIAT =, i foh Toh aXct, TH UEC 1 RS TH0T
(Amalgam) 9K (Mercury) 1 TRt 211 3 ot off &9 4 =)
GohdT & aUT ¥ a8 368 IR (Mercury) ahl AT 9T T

@ Ll ol 3d TerfehedT H IR T =T, Sieh qT 124 ATl arqei o
A A - S—
Mq«u SHATH hidiel 9T o hTH JATAT &

® There 1s a mixture with the metal, which can be a liquid,

soft paste or amalgam of mercury in any other solid form
and these states depend on the amount of mercury in it. In
dentistry, amalgam made of mercury with metals like
silver, zinc and tin 1s used to fill cavities.
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Q.22 Name the densest stable element known on earth.

ﬁ@oﬂ 9 8 e T TR dcd 2- 3
S.S.C. AT H1deh &0 (T-1) 7 HT=, 2020 (I1-9Te)

—_—

a) Tungsten / ?JTR:[/

b){ Osmium / ﬁ@
/ C) Alumlnlum/@ﬁrﬁ'ﬂﬂ

d) Rhodium ATTEIH /
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* godl IT A e Jd Feid ¥od dcd (De

" Element) Siewem %l SRHIH W o' %
qoT Y] hHTH 76 B T W e om

HehHUT el 2, S CRS FIT BT R
vl /
—Osmium 1S the densest element known so far

on Earth. The symbol of Osmium 1s 'O' and
the atomic number 1s 76. It 1s a transition
element of the platinum group, which 1s very
hard.




SSC CHSL 2022-23

Q.23 Which of the following noble gas is used for Anesthetic?
/ﬁwﬂdf@d T hH-H] A6 1] S-S o [ STANT hT STl 22
— S.S.C. 3ATATE Edsh T (T-1) 7 |91, 2020 (-7

< (ﬁy

/ <®@

/ m/Argon
/ @) =/ Neon
(d) gt /Helium
~
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* I ohmhetic) ccicy

[T ST (Xenon) T8 ST SU-NT {ohAT ST 2|

® Xenon gas 1s used to sedate or anaesthetic.



Q.24 Which vitamin provides immunity?

- faerfie gfawet gem shtar 29
I / e —
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(\

o fITIW A o1 Y@ R 18 TS (Visual Pigments) o G240 H | T
g1 2l $6eh SATNTh T8 IR HIRIHIAT, ST Ef\q‘éﬂ%mﬁ ITRTRIAT H
I EsINT, BSfEAT S TR T gl S &HdT, FHTEEEee ST 3411%
 fTT Terereh B 2 W@WWWW@W& CARIEZ
2l SrdT 2 samg =g eIt sl Esnmur Ueh f%lzrfﬁ‘rr (Anti_infection
Vitamin) F&d gl IE IR ! TeT IS HLdl A =

° The main function of Vitamin A 1s to participate in the synthesis of

visual pigments. Apart from this, it 1s necessary for protein synthesis in
body cells, especially epithelial cells, growth of bones and body,
reproductive capacity, carbohydrate metabolism etc. Bacteria etc. get
infected at weak epithelial levels. That's why this vitamin 1s called 'anti
infection vitamin'. It provides immunity to the body.
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Q.25 The deficiency of which of the following vitamins causes delay in blood

clotting? e
/ﬁmﬁ%ﬁﬁﬁfﬂrﬁ?@??ﬁwﬁ T o ook 4 H 0 BIdT @ 2

S.S.C. JE Hehi-eheT TI&TT 27 eI, 2020 (11- i)

(a} Vitamin K /
(b) Vitamin A / A
(¢) Vitamin C / TdETHA C

D

(d) Vitamin D /%l‘mtﬂ/‘-!

>

H(

D 3P
o

Kol
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Q.26 Pellagra and Scurvy are caused by which pair of vitamin deficiency

respectively
ﬁFlTﬂTﬁT{«oholl SFHRT: ohid ﬁ%ﬂ&lﬁ?ﬁwohohlwl ald &7 -
/ S.S.C. AT HTaeh T (T-1) 31 3ATEd, 2016 (I1- 9Tait)

_—

H/\,\/ (a) Vitamin C and Vitamin D / ERIEERRE IR
/ feTii €t

(b) Vitamin B-3 and Vitamin C/faeTiq sft-3 3R
ToreTio ot

(¢) Vitamin C and Vitamin A/fe@TH € 37T

/et
e

(d) Vitamin A and Vitamin B-12 / foreTfim T 3
fereTioe ofi-12
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* UATIT ATHeh U T9eIHT B, Al AT T &hall
farerfem ¢ <Rt et o hIoT gIaT 2

®* A disease called pellagra is caused due to
deficiency of vitamin B, and scurvy is caused
due to deficiency of vitamin C.



